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20 questions

40 marks

Total Time For Booklets A and B: 1 h 45 min
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NAME--

- GLASS: PRIMARY 4 -

DO NOT OPEN THIS BOOKLET UNTIL YOU ARE JOLD TO DO SO.
FOLLOW ALL INSTRUCTIONS CAREFULLY,
ANSWER ALL QUESTIONS.






Section A (20 x 2 = 40 marks)

For esach question, four options are
Make your choice (1, 2,3 0r 4). S

Answeer Sheet.

given. One of them is the correct answer.
hade the correct oval (1, 2, 3 or 4) on the Optical

Which of the following is nineteen thousand, seven hundred and fourteeny?

(1)
(2)
(3)
@)

1

4
(1)
2)
(3)

4)

(1)
(2)
(3)
(4)

19714
19 740
90714
90 740

expressed as a mixed number is.

[43] N -

w
Al AN AW Aja

AW o

- How hé_ny angles inside the figure below are bigger than a right angle?



Jane took 15 minutes to eat her junch. She finished eating at 1.10 p.m, -
At what time did she start eating? '

(1) 1.25am.
(2) 125pm.
3} 1255am.

@ 1235pm.

Alice had 20 cookies. She gave ~5% of them away. How many cookies did she

give away?

(1) 8

2 2

3) 12 '
“4) 4

-

What is the value of the digit 4 in the sum of 12 437 and 52 4312

(1) 4000

() 400

(3) 40
@ 4

. Ethan turned 90;‘ clockwise and is facing north-west now. Where was he
“facing at first?

(1)  North

{2)  South-west
(3) South-east
(4)  North-east

0..‘
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(1 12
) 3%
(3) 431;
@ 62

Which of the following figures have botis paralle! and perpendic;xlar lines?
(1) / / |

(2) '

~
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\
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-

-
-
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10.

11.

12.

13.

How many of the letters below have perpendicular lines?

CHAWEL

(M 5
@ 2
@ 3
4 4

How many quarters must be added to 1 % to get 4 -é'— 2
M 7

@ 11
@) 13
@ 18

A pail was ha!i‘—filied with water. Jack fransferred the waier from the pail into
Containers A and B which were emply atfirst. 1£80 me of water was poured

into container A and 2 £ 960 m{ of water was poured into container B,
How much water can the pail hold when it is completely filled with water?

() 3£ 140m!

@ 4L 40me

3) 6% 280 me

“(4). 81 80me

(1 6 ’
@ 7
(3 8
@ -9




14.  The graph below shows the number of people who were present at & football
match over 4 days.

Attendance at a football match over 4 days

) Ii; ’ 1
: : & Men

: 5 5 OdWomen
P P
: : : :
' ' : H
Day 1 'y : ; : !

s | i
0 200 400 ’ 600 800 . foog’

Number of pecople people

On which day is the difference in the number of women and men who.a'tterided
the football match the greatest?

(1)  Day1
@ Day2
3) Day 3
(4 Day4

1 .5. A'2~kg.§éke was shared equally among 9 friends, How much of the cake did
.. 2 of-the friends receive? ' :

0 > kg
2 1—28~ kg :
@ 5 kg '
@ ko



® 0y,

17.

18,

Siti bought 2 dolis and 3 books. The cost of 1 dofl is twice the cost of 1 baok.
She paid $140 for the dolls and books. How much did she pay for the books?

(1) $20
2 %28
@) %60
4) 384

ABCD is a square not drawn toscale. Find the sum of Xand .£Ly,

A B
L]
y
30°
X
D : c
(1} e60°
2 105°
(3)  120°

“ 150

- "ST_UV is & rectangle with an area of 48 cm?. ST is 3 times tﬁ‘e length of TU.
'Find the length of TU. ,

8 - T
48 cm?
Y U
(1)  16cm
2) 12cem
(3) 6cm

(4) 4dcm




L "

20.

™ ®10p selis oranges and apples at the price shown below.

$0.50 each
Buy 3 oranges
and get 1 free.

1 bag. of.8.apples

for-$2

* Mrs Tan bought some

At most, how many oranges could she get?

(M
)
&)
4)

2

(@
®
3

(4)

ca.'ﬂ

5
8
10 --
12

apples and oranges from the shop. She paid $6 in total.

' 1
of the toys Bryan has is as many as = of the toys Nina has,

"Nina has 18 more toys than Bryan. How man
 altogether?’

108
.90

54

48

End of Booklet A
Goon to BookletB

7

Y toys do they have

LI I
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ecuon B (20 x 2 = 40 marks)

Show your working clearly in the spaces below each question and write "your
answers in the spaces provided. For questions which require units, give your

answers in the units stated.

21. What is the remainder when 2147 is divided by 47 Do not
write in

this
space.

Answer:

22. Whatis 213?'— X6 7?

Answer:

23. Usesa protractor to measure £ ACB.

o e 4

Answer:

8 ' SCORE J ]

02 men b 41 _




24. Name two pairs of parafle] lines,

w X

Answer; /i

——

fl

25. MrLim had 3 kg 50 g of fioys ‘ |

ur. He used 500 g and packed the rest equally
into 3 bags. What is the mass of flour in each bag?

Answer:

Do not
write in
this
Space.




Z7.  What s the correct mixed number indicated b
Give your answer in its simplest form.

¥ the arrow below?

4

[\ L Y

Answer:
. —_-—_—‘—_—-_‘_.__—_

28. ABCDisa square. Draw a line perpendicular to line AC passing through

pointD. Label the fine DE.

A | B

Do not
write in
this

' Space.

29,71 -hé_\{e some pieces of one—dollar, two-dollar and five-dollar notes,
They have a total value of $10. At least how many notes do | have?

e ¢ s

Answer;

S e,

10

Frs

: HSCORE ‘ l



30. L

Do not
write in
this

Space,
N .

(@)

is north-west of ¢,

(b) Dis facing north.

ithas to make a
in order to face &.

~turn in the clockwise direction

Answer: (&)
—

32. Nathan had 12 kg of rice at first. He gave 1 of his rice to his mother.

Then he gave § kg of his rice to aneighbour. How much rice has he left?

U'lt




33. Inwhich month was the number of carrots harve

34,

The fable shows the number of carrots and turnips harvested by Fammer John | Do nat

. from May to July. Study it carefully and answer Questions 33 and 34.

B carrot
B Turnip

3800 -

3600

34900 , ; ;':_;f:'

3200 7

3000 - 7

2800

2600 7

2400 7

2200 A

2000 “

1800 =it ) . B

T N —— I

wor- B 3N N

120Q — /

2060: = S -

800 41— 1 7 7

600 +— — N i

wo N N N

200 — B : 77
0 M R a2

‘May June July

turnips?

sted twice the number of

Answer:

in August, the total number of carrots and turnips harvested was twice the
total number of carrots and turnips harvested in May. What is the totat

number of carrots and turnips harvested in August?

© b,

write in
this
space.

Answer:

12

L S

SCORE l - ! :



in o reach Town A, He then drove on {o Town B, Do not
Town B. How long did the | write in

35. MrTan drove 2 h 45 m
He took 1 h 25 min fonger to reach Town A than
whole joumney take him? - this
space.
Answer: h min
36. Javier has some 50¢ and 20¢ coins. There are 5 more 20¢ coins than the
S0¢-coins. The total value of these coing is$8. How many50¢ coins does
Javier have? .
Answer: .

37. Giant.Cookies Facto
75 shops. 55 of these shops received 400
. remaining shops
cookies did each

.0.'

..|‘

Answer:

R(".(;IQI: r ]

13




38. Lina grows 14 tulips and some roses in her garden, —72~ of her flowers are 3&2?;
6857 this
space.

tulips. How many of the flowers are ro

Qﬂ!g

| Answer: .
_ —_—
' —_— _
= f o SCORE‘ |

14

I - P U



Section C (5 x 4 = 20 marks )

Work out the answers for eacti-of the following questions. All workings must be |
shown clearly in the space provided.

41. Suzy, Jane and David saved-$16 100 attogether. Suzy-saved'$560 more Do not
o
than Jane. Davidsaved-$1606 more than-Suzy. :;?-Se g
{a) How much did Jane save? . : space.

(b) What is the total amount that the girls saved?

° sy

Answer:{a) {2]

{b) 2

ix .- aaaen | !




T aaLuspiayed 5 toy figurines, A, B,C,DandE in a straight row.
. Yoy Aisfirstin the row and toy E is jast Iq the row.
The distancs between toys A ang Dis2m,

Op"

Answer: _ [4]
—_ﬁch-m'"‘—'—-——

e . SCORE ﬁ

RM.

(GO onto the navf ma-a

Do not
write in
this

sSpace.




43. Jennifer had $120 more than Nora at first. After Nora gave $60 to Jennffer, Do not
- Jennifer had 3 times the amount of money Nora has. How much money did :‘;;f ite in
T IS
they have altogether? space.
Answer: [4]

SCORiE ] ]

17 .




44,

Ihe figure below is made up of 3 rectangles and 1 big square. Donot
DGJN is the square. The length of EH is twice that of AD, and AB = EF_ | write in
' . this
‘E F space.
) e et F
2
54 em
N o J
8cm I
R 2
L K-
@) Find the fength of CH, \
(b) Find the perimeter of the figure.
Answer:(a) {2]
®

—_—

18 SCOREf ]

£ . P




..l'

45. Two persons can sit at each side of a square table as shown in Figure 1. Do not
Each time more tables are added, they are joined by the side to form a write in
long table as shown in Figures-2 and 3. ' this

. space,
1 table 2 tables 3tables
Figure 1 Figure 2 Figure 3
(@) MrWong adds 2 more tables to Figure 3 to form a longer table.
Hew many more chairs dees he need? -
(b) Mrs Wong wants to form a long table that can sit 60 persons.
Keeping to the same arrangement shown above, how many
square tables does Mrs Wong need altogether?
Answer(a) 2]
d___
]

- END-GF PAPER"
19 o




EXAM PAPER 2012

SCHOOL :

MARIS STELLA

SUBJECT: PRIMARY 4 MATHEMATICS

TERM : SA1

QL Q2| 03 |Q4 Q5

Q7 | Q8 | Q9 [o10[ Qi1

1 2 4 4 1

Q12 | Q13 | Q14 [ Q15[ Q16 Q17
3

Yax12/1 = 3kg
Left>12kg — 3kg

Q18| 019 Q20

4 13 | 2

21)3 22)16  23)122° 24)WZ/ /XY
ZPJ /WX

27)41;3 28)A B 29)4 notes

E
D C
32)mmiother> 4 of rice 33)July

= 9kg ~ 2/3kg = 83/3kg — 2/3kg

. =81/3kyg

35)245 — 125 = 120
120 + 245 = 365
3h 65rr_|in = 4h 5min

36)5 x 20c = $1
$8—3%$1 = g7
$7+70c = 10

Page 1 to 3

25)850g 26)1/3
30)a)A 31)28
b)270°

34)May->1700 + 2200
= 3900
- Aug->3900 x 2
= 7800

-

37)6000 — 4000 = 2000-
200020 =100 °

page 1




38)14+-2 =7
7x5=35

39)54-15—-12 = 27
- 27+3 = 9cm

40)60 = 1/5
60x 8 = 480

41)a)1000 + 5000 + 500 = 2000
16100 — 2000 = 14100
141003 = 4700

She saved $4700

b)$4700 x 2 = $9400
$9400 + $500 = $9900

The total amount the girls saved is $9900

2u>60 + 120 + 60 = 240
1u->240=-2 = 1290
4u>120 x 4 = $480

-

42) — ? —]
A B C D E
P — —

Yam im Yam 12/z2m
t——2m—
2~1=1
AB = CD
AB=1:+2=14m
BE-.':--. 141 + 12/3
=1+ 3/6 + 146
= 27_/6 = 31/6m
- $120
43) B enbenn
- Jb . (e8] - ;’H
N’ | 60 ‘:.._\J

Page 2




44)a)EH>6x2 =12
(54—-12)-8 =34
10x2=20
34—-20=14

The length of CH is 14cm.

b)34 + 34 = 38
54 + 54 + 6 + 6 = 120

Perimeter->68 + 120 = 188cm.

45)a)a x2 =8
He needs 8 more chairs.

b)F1 =4 + 4
F2=4+444
F3=$+4+4+4
60 -4 =56
56+4 =14

He needs 14 tables altogether.

o sy,

Page 3
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